
Quiz 1 Review #2    no calculator!!!  
 
 

1. Find the equation of the tangent line to the graph of 𝑓(𝑥) =  𝑥34𝑥   at the point (1, 4). 
 

 

2. Find the derivative of 𝑓(𝑥) =  log15(11𝑥) 
 

3. Find the indefinite integral:  ∫
𝑒3𝑥

5+𝑒3𝑥 𝑑𝑥 

 

4. Find the indefinite integral:  ∫ 2𝑡𝑎𝑛𝑥𝑠𝑒𝑐2𝑥𝑑𝑥 
 
 

5. Evaluate:   ∫
𝑒
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Quiz 1 Review #2    no calculator!!!  
 

Given the following function:  

a) For what values of x is f increasing? Decreasing? 

b Find the x coordinate of any points of inflection of the graph of f. 

c Find the average value of f(x) 

d) Using the results found in parts (a), (b), and (c), sketch the graph of f in the xy-plane provided below (Indicate all 
intercepts) 

 

 


